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#00  Appendix

L IABLE 12 1
/‘j Percentage points of Fug = Soa,/5%i ]
g Upper 5% Points 1

% 2 3 4 5 6 7 ] 9 19 1

2 39.0 875 142 202 266 333 403 475 550 626

3 154 - 278 392 507 62.0 72.9 835 93.9 104 114

4 9.60 155 2046 252 295 33.6 375 411 446 48.0
5 715 10.8 13.7 16.3 187 20.8 2.9 247 265 282
6 5.82 8.38 10.4 121 . 137 15.0 163 17.5 18.6 19.7
7 4.99 6.94 8.44, 970 10.8 11.8 12.7 13.5 143 15.1
8 443 - 6.00 7.18 8.12 9,03 9,78 105 11.1 11.7 12.2
o 403 534 631 711 - 780 8.41 8.95 9.45 991" 10.3
10 372 485 567 6.34 6.92 7.42 787 - 828 866 9.0
12 328 4.16 4.79 5.30 572 6.09 642 . 672 700 725
15 2.86 3.54 4.01 437 4.68 495 519 540 5.59 577
207 246 295 3.29 354 . 376 0 394 410 424 437 4.49
30 2.07 2.40 2.61 2.78 2.91 3.02 3.12 3.21 3.29 3.36
60 1.67 1.85 “1.96 2.04 211 217 . 22 2.26 2.30 2.33
o 1.00 1.00 1.00 1.00 100 . 100 100 1.00 1.00 1.00

Upper 1% Points

3 4 5 6 7 8 9 v u

{

a5 2

2 199 448 720 1036 1362 . 1708 2063 2432 2813 3204 360
3 475 85 120 151 184 21(6) 24(9) . 28(1) 31(0) 33(7) 3
4 232 3749 59 69 79 89 97 106 IR T
5 149 2. 28 33 38 42 46 50 - 54, 57 (
6 111 B 22 25 27 30 32 34 36

7 88 121Y 145 16.5 18.4 20 . 2 23 24 26

8 750 9 117 132 145 158 166 17.9 189 "19.8

9 654 . 85 9.9 111 12.1 131 13.9 14.7 153 160

10 58 74 86 9.6 104 111 118 12.4 12.9 13.4

12 491 6.1 6.9 76 8.2 8.7 9.1 9.5 9.9 102

15 407. 49 55 6.0 6.4 6.7 71 . 73 75 78

20 332 3.8 43" 46 49 51 53 55 56 58

30 263 3.0 33 34 3.6 3.7 38 3.9 49 41

60 1.96 22 23 24 2.4 2.5 25 2.6 2.6 27

LY 100 10 1.0 1o - 1.0 1.0 10 . 1.0 10 1.0

shax is the largest and sy, the smallest in a set of ¢ independent mean squares, each based on dfy = # — 1 degrees of freedom. Values in the colums :
¢ =2 and in the rows df; = 2 and e are exact. Elsewhere, the third digit may be in error by a few units for the 5% points and several units for the 1%
points. The third-digit figures in parentheses for df; = 3 are the most uncertain., From Biometrika Tables for Statisticians, 3rd ed., Vol. 1, edited by
B. 8. Pearson and H. O, Hartley (New York: Cambridge University Press, 1966), Table, p. 202. Reproduced by permission of the Biometrika Trustees




